
Errata in Cardinali-Payne

S. E. Payne

Page 8, line -5: d, d′, d′′ ∈ F should be d, d′, d′′ ∈ F ∗

Page 10, line 3 of Observation 1.6.6: “(1, s, fs(t))” should be “(1, t, fs(t))”

Page 17, line 9: Beginning of line should read: “ C3 =

(
0 0
0 0

)
,”

Page 22, last line of Section 2.1: “Section 8.2 ” should be “Section 9.2”

Page 28, line 1: an equality sign is missing: C + CT = 4bdP

Page 28, line 7: two equality signs are missing: A = ... and B = ...

Page 34, line -12: an equality sign is missing: Aφt−1 = t−1At

Page 36, line -9: an equality sign is missiing: π = π1 ◦ π2

Page 52, line 18: “ATγσ⊗BTασ,” probably should be “γσA⊗ασB,” or at
least we should comment that we are writing the vectors as column vectors.

Page 59,

Page 64, line 5: tt−1 + δ should be t = t−1 + δ

Page 67, part (ii) of Lemma 3.10.1: There is an equality sign missing:
θ̂ ◦ θ− 1

2
◦ θ̂−1 = θ(...

Page 90, line -6: “mod j + 1” should be “mod q + 1”

Page 148, line 5: “yielding to a” should be “yielding a”

Page 156, line -6: “h = 2e − 1 is odd” should be “h is odd”
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